gobogboodoogod

JohO0OOOOOOOOOOO

2006-11-13

gogbobooooobuooobbooobbooobboooobobuoobobbooobbooooo
gogbobuogobobooobboooobbooobbooobbooobbooobboooboboo
gobooono

I gooobon

gdodoooouoooooooooodouoboon
TdS = dU + PdV (1)

ooo7, S, U, P,V 0000000000000 0000000000000oooooooooood
000000000000 (1)oooUooO0o0ooOOoUOU0O0O0DO00OOU0O0OO0ODOUDOOOOOO
O000000000ddU =0000000000

dT A dS = dP A dV (2)

D0000D00000000000 2000000 (2)0000000000000000000000
0000000000 MMO0000000000000000000000000000(
0000000000000 (S,V)00000007,P0 T=T(S,V), P=P(5,V)000000
D0000 (2)0000000000000000000000000000000000000000
00 (%), 0Mm vVooooooo4 00000000000000000000000

0 = (), a5+ (2) ar)nas—((22) as+ (2) ar)nav

oT oP
— <8V>SdV/\dS— <8S>VdSAdv (3)
Jo0doooogoooodV AdS =—-dSAdV ooooood
oT oP
(av>s = (as>v @

*1 0pO0D00000000000 (2)00000000000000000000000007,P,V,S000000000
goboooooooOoOoOOOOOO0OO0OO0O0O0O0O0O0O0OCOOOOOO0OOO0O0O0O0O0O0O0O0O0O0O000000O0O0O0000O0
goooooooooOoOoooooO0oO0OoooOoOoO0oO0O0oooOoOoO0O0ooon



00ooOooooooooo 2

o0 oobboobboo0ob oobboobooobooobooo

googg

000000000000000000 (S,V)00000o0o0o(7,V), (I,P),(S,P)000000
0000000000000000000000000000000000

(or).= (3s), (@), = (). (or), =~ (o),

I gooobnd

0000000000000ooO0ooOO0OOnD (1)bobobo TOODOOOD

dU P
dS =~ + —dV 5
Tt (5)

gobooooboooobogon

dT TdP — PdT
= dU A <T2> - (TQ) AdV

1 1 P
= —dUANdTl'+ =dPANdV — —=dT' NdV 6
T2 +1’ T2 (6)

00000000 dU,dT,dP,dV 000000000000000007,Vv 0000 U=U(T,V),P=
P(U,V)D0DODOOO0O0 (6)0000000000000000

1 ou ou 1 oP oP P
= — _— _— —_ _— _— —7T
0 2((8 >Vd1+<av>TdV>Ad7+ <<3 >VJZ+<8V>TdV)AdV 2d AdV

:1<mv¢WAﬂ+lcw>dRWV—PﬂAW
T T \4 1>

T2 \ 9V oT
1 oU 1 /0P P
(= (), 7 (or), - ) 7
O (7) ddoodoodooog ooooooooogo 07?200000000000000
oU oP
(av)T—T<aT>V‘P ®)

0 8000000000000 0O000O00O000OO00O00DDO0DODMOD0UO0oULooUoOo
goboooobooobooon

googg

0 (l)0000 POOUOOUOOOOODOOOOOOOOOOOOOODOOO
p (PP _p_ (2P (U _(op\ (U
or)s = \oT)g\9S ), \9S),\oT )

— 00000000 http://wwwl2.plala.or. jp/ksp/ —



00ooOooooooooo 3

goodd

O00000oooooooooooon0 TdS=dH-VdPOOOOO0OOOO0O0OO0OO0OO0ODOOOOO

gooad
OH ov
(ap)T—V‘T(aT)P

II]D

0000000 00DooO00oooooooooooo 7,S,PO00O0OOO0OODODOOOOOOOO
gogog

T =T(P,S) (9-1)
S = S(T, P) (9-2)
P = P(T,S) (9-3)

gooooobooOoOobOo0o0oDOobOUd0D 200000DOO0O00DOO0ODOOOOOOODOOOODO

orT or
i = ((25) ar+(2) as)nas

gobogoobooboboooboo

googg

0oo0o0000000000000 H=H(I,P)OOOOOOOOOOOOOOOOOO
or OH oP\ _
OP ) \OoT ), \0H ),

— 00000000 http://wwwil2.plala.or.jp/ksp/ —



oooooooooooog 4

googdg

0(40000000000000000000000O0O000000OD0 D0D0D0O0ODO0O0DO0O0O0OO0O00
0000000000000 0o00o000oo00ooo0ooooooooooooOoooodS,dl,dpP,dv
ggbbugogbbbooobboooobbuooobbuooobbooobbooobbbuooobobo
000000000000 (1) 0000000000000 LO00O0DO0O00O00D0ODO0O0OOOo0O
0o0o0ods,dl,dP,dV 000000000000 00000000000000000000ooog
ggbooobdoobboobboooboooboobbuoobboobooobuoobboon

gbooooboboobooboboooboboooobobooobobooobobooboobooboo
gooboooobbooobbboooobbooobbooobbooobbbooobbbooobobo
gogbogpobooboooobooboooobooobooboooboobboo™oboooboobon
gogbogoboobbooboooooboboobboooboobboobboobbono boooba
gooomooobooobooobooobooobboobboobDboobbo obboboobo o
goobooooboboobbobooobbbooobbooobbooobbooobbboooboboo
goboboooobbooobboooobbooobboooobbooobbooobbboooobbo
ggbbogoobbuoooboooobbooobobooobobbuoobbooobbbuoobbog
gobooobooboboobbooboobobooboboobbooboooboo

*2 0000000000000 0000000000000000000000000000000000000000000
gooboooooooOoO0oooooO0oOo0oooOoO0oOoO0OooOoOO0oO0O0OOoOO0OO0O0O0bOOO000O0b0O00O0000

— 00000000 http://wwwil2.plala.or.jp/ksp/ —


http://www12.plala.or.jp/ksp/manifold/index.html
http://www12.plala.or.jp/ksp/manifold/index.html
http://www12.plala.or.jp/ksp/manifold/ManiCotangentVector/

	熱力学第一法則
	 
	練習問題１

	もっと関係式を
	 
	練習問題２
	練習問題３

	発展
	 
	練習問題４
	発展的な補足


